
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the slides (twice).
- Looking at them as little as possible, answer the questions.

The answers of Week 3’s questions should be handed to me at the next lecture at ISEG. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the slides). Keep a copy for yourself.

Reserve 3 hours per week to answer the questions. If you answer them in a serious way, you’ll need to study much less for the exam.

Please write WEEK 3 in bold at the beginning of your answers.

Week 3
L5: Two negative consequences of monopoly price and possible (imperfect) solutions.

1.a)What are the fixed costs incurred per year by a single company distributing electricity to a city?

b) Represent the cost structure of that company in a graph.
Note: the UVC = 1€.

c) Why can that company rob consumers? Represent that robbery in the previous graph.

2. Suppose that that company sets the price at 10€. 

a) A consumer who would be willing to pay only 8€ for a specific unit of electricity would not buy it. Would that fact be bad for society as a whole? Explain and illustrate in the graph.
b) A consumer who would be willing to pay only 0.5€ for a specific unit of electricity would not buy it. Would that fact be bad for society as a whole? Explain and illustrate in the graph.

3. Suppose that the state forces the company to set the price at 1€.

a) Explain the two positive consequences.

b) Explain the negative consequence.

4. Suppose that the state forces the company to set the price at a level that allows the company to cover fixed costs and earn just normal profits.

a) Compare the consequences of this solution with those of a price equal to the UVC.

b) Compare the consequences of this solution with those of a monopoly price.

5. Suppose that the state forces the company to set the price at 0.3€.

a) Is this a wise solution? Explain.

b) Would that require a state subsidy? Explain.

6. Why is a perfect solution to the problem of a monopoly price impossible?

L6: Two further negative effects of a monopoly + factors that lead to a monopoly
7.  Is the production capacity of a firm fixed in the short term? And in the long term? Explain.

8. “The UCs of a firm in the long run fall as more and more units are produced.” Do you agree? Explain.

9. What does x-inefficiency mean?

10. What happens to a firm in a competitive market that does not reduce its costs as much as possible? Explain.
11. What happens to a firm in a monopoly market that does not reduce its costs as much as possible? Explain.

12. A firm that operates in a competitive market tends to use a new tech that improves the quality of its product, even if it implies higher production costs. Why?

13. A monopolistic firm may not use a new tech that improves the quality of its product if it implies higher production costs. Why?
14. What is the similarity and the two differences between a patent and a copyright?

15. “The validity of patents and copyrights ends at the borders of the countries where they are registered.” Do you agree? Explain.

16. Why may companies keep secret new technologies they invent instead of registering them as patents?

17. If a company invents a new technology that reduces its costs in relation to its competitors, what will it do?

18. “If there is a single company in a market charging the monopoly price, new potential firms will not enter if they know the established company has lower costs than themselves.” Do you agree? Explain.
19. Why do companies register new products as patents instead of simply keeping them secret?

20. What is a good subject to network externalties?
21. If Windows is not better than other operating systems, why is Microsoft able to sell it at a very high price?
.

1

